

■ 次の  に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

①  $12 \div (\text{ } - 3) = 3$

②  $\text{ } \times 6 + 6 = 42$

③  $(20 - 4) \div \text{ } = 4$

④  $(\text{ } + 3) \times 6 = 66$

⑤  $9 + 7 \times \text{ } = 58$

⑥  $5 + (4 - \text{ }) = 8$

⑦  $\text{ } + 36 \div 4 = 12$

⑧  $20 - \text{ } - 4 = 9$

⑨  $20 \div (4 + \text{ }) = 4$

⑩  $\text{ } - 2 + 1 = 7$

⑪  $14 \div 2 - \text{ } = 3$

⑫  $47 - 18 \div \text{ } = 38$

⑬  $10 - (1 + \text{ }) = 3$

⑭  $\text{ } \times (12 \div 2) = 18$

⑮  $(9 + 9) \div \text{ } = 2$

⑯  $15 \div 3 + \text{ } = 8$

⑰  $(\text{ } - 3) \times 4 = 20$

⑱  $10 \div 5 \times \text{ } = 6$

⑲  $5 \times (\text{ } + 4) = 25$

⑳  $\text{ } + 6 - 9 = 2$

㉑  $77 - \text{ } \times 2 = 59$

㉒  $12 - (6 - \text{ }) = 9$

㉓  $\text{ } \times 4 - 12 = 4$

㉔  $4 \times (\text{ } - 4) = 8$

■ 次の  に 1 から 9 までの 整数 をあてはめて、正しい式を作りましょう。

①  $12 \div (\text{7} - 3) = 3$

②  $\text{6} \times 6 + 6 = 42$

③  $(20 - 4) \div \text{4} = 4$

④  $(\text{8} + 3) \times 6 = 66$

⑤  $9 + 7 \times \text{7} = 58$

⑥  $5 + (4 - \text{1}) = 8$

⑦  $\text{3} + 36 \div 4 = 12$

⑧  $20 - \text{7} - 4 = 9$

⑨  $20 \div (4 + \text{1}) = 4$

⑩  $\text{8} - 2 + 1 = 7$

⑪  $14 \div 2 - \text{4} = 3$

⑫  $47 - 18 \div \text{2} = 38$

⑬  $10 - (1 + \text{6}) = 3$

⑭  $\text{3} \times (12 \div 2) = 18$

⑮  $(9 + 9) \div \text{9} = 2$

⑯  $15 \div 3 + \text{3} = 8$

⑰  $(\text{8} - 3) \times 4 = 20$

⑱  $10 \div 5 \times \text{3} = 6$

⑲  $5 \times (\text{1} + 4) = 25$

⑳  $\text{5} + 6 - 9 = 2$

㉑  $77 - \text{9} \times 2 = 59$

㉒  $12 - (6 - \text{3}) = 9$

㉓  $\text{4} \times 4 - 12 = 4$

㉔  $4 \times (\text{6} - 4) = 8$